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43 =

763=__ -142

What is the value of the
underlined digit? 6424
62+10=

3.85+1.03 =

1432 x 27 =

24 + =4

1 5

3 6
4774 31 =

27 x12 =

8 =

1542 = -265

What is the value of the
underlined digit? 37551
62+ 100 =

8.07 +2.19 =

1675 x 34 =

54 = =9

2 11 _

7 14
8695 =+ 37 =

37x12 =

113+ 73 =
4642 = __ -1434

What is the value of the
underlined digit? 354275
62 + 1000 =

13.87 + 7.006 =

1986 x 48 =

72 + =8

3 17 _

8 24
14151 - 53 =

47 x 12 =
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43 = 64

763 = 905 - 142
6424 = 400

62 +10=6.2
3.85+1.03 = 4.88
1432 x 27 = 38664
24+6=4

4774 + 31 =154
27x12 =324

83 =512

1542 = 1807 - 265
37551 = 7000

62 + 100 = 0.62
8.07 +2.19 = 10.26
1675 x 34 = 56950

54+6=9
2,11_15_, 1

7 14 14 14
8695 + 37 =235

37 x12 =444

113 + 73 = 1674

4642 = 6076 - 1434
354275 = 50000

62 + 1000 = 0.062
13.87 + 7.006 = 20.876
1986 x 48 = 95328

72+9=8
3 17 _26 _ . 2 1

8 24 24 24 12
14151 - 53 =267
47 x 12 =564



